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1. BHABENEE(iI) <ERBEZE>
BENEXS NEERIEEED EEE BE |[1BEYOLE
5771 [E=EE 667M 4 287H
EXiE 1 TAERME 22183 | 133480 | 17408 | 1880M 4,954
(3%)56E1/H RETR=EE] 2,002 5,622H
~ 721 B85 151518 819H 4,439
BEXi® 2 Ea =3 ) Ik=1 2Z[838 | 16380 | 17408 | 1880H 5,258
(3%)56H1/H 3ZI&E | 2457H 6,077
752841/ 8 ET=EE 852 4472H
ENE 1 F4ERIME 2ZI&3 | 1,703 | 1740 | 1880HM 5,323
(%) 56E{i1/H 3ZI&H | 2555M 6,175H
7998 {1/ H [ETE=EE] 901H 4521
ENiE 2 Bt =3 ) Ik=1 2Z[838 | 1,802 | 17408 | 1880H 5,422
(3%)56H:i/H 3EM&HE | 2,704H 6,324
86151/ H [E=EE 967H 4 587H
EZNiE 3 FAERIME 2Z[&7H | 19330 | 17408 | 1880M 5,553
(3%)56E{1/H RETE=EE] 2,900 6,520
914841/ [ETE=EE 1,022 4,642
BENE 4 F4ERIME 22|81 | 2045 | 1740 | 1880M 5,665H
(3%)56H1/H 3ZI&fH | 3,067H 6,687
966 {7/ B (=R 1,077H 4.697H
EZMNE 5 FAERIME 2Z[&3H | 2,1548 | 17408 | 1880M 5,774
(3%)56E1/H RETE=EE] 3,232 6,852 H
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~ 6105 4L/ H ] 702 3332
EXiE 1 Bt =3 ) Ik=1 2ZI&H | 14040 | 750M | 1880M 40341
(3%)56H i/ H RET=EE] 2,106 4736
B 768E {1/ H 121548 868H 3498H
EXiE 2 EAe =3 ) Ik=1 2Z[E8f8 | 1,7370 | 750M | 1880HM 4367
(3%)56E1/H RETE=EE] 2,605H 5235H
827Hi{I/H [ETE=EE] 931H 3561
ENE 1 Bt =3 ) Ik=1 2ZI& | 18610 | 750M | 1880M 4491
(%) 56841/ H 3E[EE | 2792H 5422
876E i/ H [E=EE 982H 3612H
EANE 2 FHRERME 2EI& | 1,965 750M 1880M 4595
(3%)56E{1/H RETE=EE] 2,947H 5577H
939Ei{z/H [ETE=EE 1,049 3679
Zi€ 3 FAEERIME 2Z[&3H | 20070 | 750 | 1880H 4727H
(3%)56H i/ H RET=EE] 3,146 5727
991841/ H (=R 1,104H 3734H
EANE 4 FHRERME 2EI& | 2207H 750M 1880M 4837
(3%)56E1/H RETE=EE] 3,311H 5941H
10458(i1/H [ETE=EE] 1,160 3790
ENiE 5 B =3 ) Ik=1 2ZI1&H | 23210 | 750M | 1880M 4951
(3%)56H i/ H RET=EE] 3,481H 6111
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-REBAEREME 24Efs1/H - BIRRE EE
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XA NE (FE) 184 i {51 /[A] -EREAR 50 /H
@R NEYT—a EREME 240E{z/H (TVEREM)
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- ERENEREME(T) FrEBIE x3.9%/8 -hvbk 2,200
-NEREERFTEMLENEME(LD) FrEBAIE x2.1%/8 - IN—T+hYk 7,700MH
NEBEEN—XT7YITEXZEME A E B 131 x 0.8%/ B -h5— 6,600
R AEFEENE 2758 41/H(THET) - hS5—+hvbk 7,700




